4= AN SN AR
S QX2 HE
SRl AR EBN 243 X3 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
Atz = A H 1t 27,361,892 37,598,452 10,236,560
= 1,317,000
s 11,211,000
& 14,833,892
2xtel #= 26,209,457 36,388,787 A 10,179,330
= 1,317,000
s 11,211,000
& 13,681,457
MNSIBZH 43 K3 26,209,457 36,388,787 10,179,330
= 1,317,000
ay 11,211,000
= 13,681,457
M EHEH |4 IS 733,750 759,200 N25,450
201 LEr2 A 39,450 39,900 AN450
01 AtR2elt| 14,550 39,900 A25,350
OAS|HHME M 2 4,500
OMEHZRH ct2EHI0IE 22 10,050
03 &A+2 G| 24,900 0 24,900
OMHBHM SS70 o5 224 24,900
202 04| 3,000 3,000
01 =LHAb] 3,000 3,000
OASIEZRH JI18t2= MY =8 3,000
301 LEtENZ 5,100 5,100
14 JIEt2 &3 5,100 5,100
OASIZHZH 2370 242 S2H 5,100
307 2I2t0IA 686,200 711,200 A25,000
02 QIRHFAAIHE = 686,200 711,200 A25,000
oYX 29 100,000
OMAHZMIIY SZHAHE AESS ALE 48,200
OAMSIZZH HHH BH 22 90,000
OMIEZH EH=s4 X2 80,000
OMIEBM Jl=stls S8t 38 Lst
JgtR= 80,000
OZAT ASIEZHN SSXNAEH 2 28,000
O(GIENAISI RIS A0S OF3tOIDI
29 50,000
OASIEZ28 20t I8t xS 435 K& 200,000
OMIHZHN LHE STt 2HUS 10,000
M EHAMEZE 43t F& 960, 143 927,9% 32,147
307 2I2to| A 960, 143 927,9% 32,147
05 QI”IRIE = 960, 143 927,9%6 32,147
OAMABZHXNALH 2 960, 143
MEIEEH SAE2 =8 (=1) 8,800,000 8,540,000 260,000
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A= FH=2 2N 0 ARIEZH
= anel 2&
&2l Al BN 2dst K& (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
s 4,400,000
& 4,400,000
403 XXM S K=01& 8,800,000 8,510,000 290,000
s 4,400,000
& 4,400,000
02 B0 2SH e X2 X AEAFS Y| 8,800,000 8,510,000 290,000
OLAT ASIHFN SblEtE =4 8,800,000
s 4,400,000
= 4,400,000
ABIEDIY SH(LReEE)(21) 7,572,760 5,866,700 1,706,060
s 6,140,000
& 1,432,760
308 AtXIEMSO0IA 7,572,760 5,866,700 1,706,060
s 6,140,000
& 1,432,760
01 AXESHNBLEEXS 7,572,760 5,866,700 1,706,060
ORI EHEAY 7,572,760
s 6,140,000
= 1,432,760
MNEIEIIH SH(AFDHEH])(=21) 1,352,060 1,185,000 167,060
= 1,040,000
o= 312,060
308 AXIHMSOI& 1,352,060 1,185,000 167,060
= 1,040,000
& 312,060
01 AIXIEHHBAEES 1,352,060 1,185,000 167,060
OAFIHEHl XI& AN 1,352,060
= 1,040,000
& 312,060
MIEI|Y SH(AIRDIILHI-XILESH(=21) 360,100 393,000 A32,900
= 277,000
= 83,100
307 QI2H0I A 237,000 269,000 A32,000
= 166,000
< 71,000
02 QIZtBAAIHEE S 237,000 269,000 A32,000
OXNESESAS (ZS) 237,000
= 166,000
& 71,000
308 AXIEMSO0IN 123,100 124,000 A900
= 111,000
& 12,100
01 AXEHBLEES 123,100 124,000 A900
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4= AN SA ARSI RD
S QX2 HE
SRl AR EBN 243 X3 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OXNSEESFMEOI=E) 123,100
= 111,000
& 12,100
A ED Y SH(AEIBEE)(=2) 389,724 320,000 69,724
s 316,000
== 73,724
308 AXIHMSOI& 389,724 320,000 69,724
s 316,000
& 73,724
01 AIXIEHBAEES 389,724 320,000 69,724
OAM3IEEZ KIA 389,724
s 316,000
& 73,724
MDY |4 120,220 116,220 4,000
201 Ler23d| 8,220 8,220 0
01 AtR2eltl 8,220 8,220 0
OMIEDIY 29 2 S8 =& 8,220
202 04| 4,000 4,000
01 =WHO4HI 4,000 4,000
OMIHI Y &Y 4,000
403 XHXIHMS =01 A 108,000 104,000 4,000
01 XtXIEHMIAH=2 2 = 108,000 104,000 4,000
OAIZIEIIY Al&H|l XA 108,000
o221 s4(=1) 435,500 455,000 19,500
s 335,000
= 100,500
308 AtXISHMS0IH 435,500 455,000 219,500
s 335,000
== 100,500
01 AXSHHBHEES 435,500 455,000 19,500
o1y 84 435,500
s 335,000
& 100,500
oS08 84 96,200 123,500 A27,300
201 Ler23AH| 9,000 9,000 0
01 AtR2eltl 9,000 9,000 0
oIy 83 L At=2tel 9,000
202 04| 3,500 3,500
01 =WHOHI 3,500 3,500
oIy 88 L At=2el 3,500
307 2I2to| 63,700 91,000 AZ27,300
02 QI2ZtBAAIHE X 63,700 91,000 A27,300
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A= dH= 2A 0 ARIE BN
g el F&
chel: ABIEZH 243 N (ol me)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
ootsJ1Y - gs2g 1kst 63,700
308 A XIHHSOIA 20,000 20,000
01 MAEHBLEEZ 20,000 20,000
OZEEE OHIoESIIY &4 20,000
0201 84 28 S N3 (HEAY) 520,000 520,000
307 2I2t01 & 520,000 520,000
02 QB AAHE X 520,000 520,000
o2J1d |4 ALE S N (M) 520,000
NS 2dst J1gt2= 4,844,000 7,265,000 2,421,000
201 eH=3| 4,720,000 7,260,000 A2,540,000
01 At22t2H] 4,700,000 7,193,000 A2,493,000
oYy Ed RE =M 4,700,000
2 5=l 20,000 15,000 5,000
oYEYEH 7S FH 20,000
202 O 4,000 5,000 21,000
01 =LHAbI 4,000 5,000 1,000
OLHYEH RS =M 4,000
301 2N S 120,000 120,000
14 JIEt2 4= 120,000 120,000
oYHyEd RE =M 120,000
XIS ALE 243t D18 24(=1) 20,000 1,095,000 A1,075,000
= 20,000
207 A=1IHE 20,000 0 20,000
[ 20,000
01 gimge| 20,000 0 20,000
OXIHAIE] BE U ABASFE 2I5t 478
B 20,000
[ 20,000
INESPNF = N 5,000 25,000 A20,000
307 elztold 5,000 25,000 220,000
08 OIXtE2&S 5,000 25,000 /20,000
OXS ot XIRAAMY OIXtEA X 5,000
dEE 43348 ¥ 1,120,572 773,09 347,477
NSRS &3t 1,120,572 773,095 347,477
N OtsSSH 20| 382,500 382,500 0
201 Ler=2a| 21,000 21,000 0
01 At2tcltl 16,000 16,000 0
Olt=SSHAIE 28Xd S 16,000
2 =524l 5,000 5,000 0
Ooits=)| NgIFE23 2| 5,000
202 04| 1,500 1,500
01 2LHOIHI 1,500 1,500
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A= dH= A MBI
mE: YA WS BB
el NSRS 225 (chel: &)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
Olt=SSSHAIE 2= 1,500
308 KX M SO0IE 360,000 360,000
01 XN B SELS 360,000 360,000
Olt=SSHMAEEl X3 360,000
2 MGteSSHSENEEH 28 398,072 390,595 7,477
307 @120l & 398,072 390,595 7,477
05 gizt?(& = 398,072 390,595 7,477
OZ2x Ul==SHM SEXEdH 29 398,072
ANSZHHZEHE 715 & 289 340,000 340,000
307 212t01& 340,000 340,000
02 2B AAHE R 340,000 340,000
OXSZ2HoiZ2HS 2S X2 340,000
HY2IZHI(AFRIHZ N 31,863 36,570 N4, 707
Jl=2dsl 31,863 36,570 N4, 707
FNE2E Jl=3HI 31,863 36,570 N4 707
201 &gt=2E | 22,449 26,130 A3,681
01 AtR2t2lH] 22,449 26,130 A3,681
FN2E AR/ 22,449
202 O 5,814 6,840 1,026
01 =LHA LI 5,814 6,840 1,026
OFAEY =0 5,814
203 HR=&H 3,600 3,600
MU FAZSER=A 3,600 3,600
©20¢! Olat 300,000+ 12& 3,600
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